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Missing Numbers 

8            

  

 +    12  =             17 -    15    =              

5            

  

 +     10  =              10

14        

      

        +      4 =              16

10        

      

 +      7  =             19

4          

    

 +     11 =          14

11          

    

 +      9  =    20

-    5      =              

-    7      =              

-    11      =               

-    9      =              

-    10   =                 

Missing number at the end? 

It's so simple, my friend. 

12 + 13 = ________ 
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Missing Numbers 

38        

      

 +    12  =             57 -    15   =              

45        

      

 +     40  =              60

64        

      

       +    14 =              46

40        

      

 +   27  =               79

21        

      

 +     37 =          24

72         +    19   =    80

Missing number at the end? 

It's so simple, my friend. 

12 + 13 = ________ 

-    25    =              

-    37    =              

-    41     =               

-    19    =              

-    59  =                 


